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Those are the very things which are acquired by speaking

OVERVIEW

Generally when a person makes a verbal pledge without an accompanying
"7, he may renege on his pledge. 27 9K 973 21 teaches us that when the
parents of the prospective groom and bride (mutually) pledge what they will
give to the newlyweds, in this case even though it was merely a verbal
commitment, nevertheless their pledge is effective and they cannot retract it.
mooIn qualifies this rule.

modoIn asks:
— 139 (.x,0p mamns) I 23T NV PH9IT NN

It is astounding! For in the ny9°3 51937 51w 2992 we learnt in a ;73w that if -
—>UNY PaYNY 1Y 2UN 9390 NN 1Y DY) 1INNY myn PoIN

One pledged money for his son-in-law, and reneged on his commitment,
the ruling is (according to the »"n) that he can make her sit until her head

becomes white. The son-in-law is not required to either consummate the marriage or
to divorce her. He has the option of having the woman remain betrothed but not married.
This concludes the citation from n12102.

mooIn concludes the question:
— 199N 13PN D927 )7 107 1993 P1Y 19N XD *manws aun nnYy

But why should she sit and wait; he should marry her and call his father-
in-law to a 7710 7 since these are the very things which are acquired by
merely saying. He will be able to force his father-in-law to pay.

' The son-in-law was w7pn this woman (there was no X" yet) and the father-in-law had previously
pledged a sum of money when he will marry his daughter. The father-in-law informed the son-in-law (after
the 1°017°X) that he has no intention of keeping his promise. The daughter is now an X nwX (she is an
701X, but not a AXW1); the husband can keep her in this status (even if she becomes an old woman) until
her father pays. Normally the X1 must take place within twelve months of the 1P017X; in this case
however (since her father reneged on his pledge) the husband may extend the 1°017°X indefinitely.

% The literal translation is, ‘and he stretched out his foot to him’. See >"w" there for his explanations. The
term 23777 NX vwo is used (today) to refer to a case of bankruptcy.

? Her hair on her head will turn white from old age.

* The son-in-law cannot claim the monies promised until after the 1"Xw”1. The husband is reluctant to
perform pXw-1 for he feels he has no other way to coerce the father-in-law to pay unless he delays the
X1, The fact is however that according to our X723 these pledges are enforceable in a 7"2 since they are
TR IR
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Mo0IN answers:
—*N321a 0P 127 %32 NIVY N¥II 1PN ININNY 91217 W

And one can say; that the 1nn does not want to bother and be involved in
litigation in a 7'">2.

mooIn offers an alternate solution:
-19%RA D7) IN VTP 11IY DININD TINNYI XPITT WY 98N )2 ININIY 2%

And the 2"2w9 explained that only when the w7SP took place in
conjunction with these pledges;® only then are they acquired with
(merely) speaking. -

="y109 2nP1 PPN
And the 0"2w" infers this since 27 91X 577 21 stated ‘and they arose and

made PW17p, they acquired the exchange of pledges.’
— D939 PINN VTP RIYA 59991 11953 23957 YT XINN)

However that 71wn of 19913 51937 s1w is discussing a case where there was

no immediate w7 as a result of their discussing their pledges, therefore
there is no 1p. The husband cannot take the father-in-law to 7'"°2 since there is no 1°1p.

mooIn resolves the following question. If there is no 1P and the father-in-law is not
obligated to pay, why can the jnr extend the 1°017°X indefinitely? We should coerce him to
have PX21 at the end of the twelve month period.®

— YN PATNVY 1Y 2VUN 7 DY 19500V INNN 01PN )

But nevertheless since they agreed to this sum therefore the aggrieved
husband can make her sit until her head turns white.

mooIn rejects the proof of the o"aw~:
— 9912 NINT DINIINT 1119Y PYIN AN PN 1N

However there is no proof from the expression 7?1 172¥ to mean that the
TR took place immediately following their discussions for it is the

manner of the N9 to use this term even when it is not in the context of an

immediate act. Md0IN offers an example:
— (x,nP 97 INNAY 552 P99 N2’ NRWI NTIY (NT21N)) NIND NDY NIVD M5

> He therefore threatens his father-in-law that his daughter will not be able to marry anyone until the jm
receives the monies promised.

® The 1w 7°p took place immediately after both parties pledged their respective amounts.

" The ®m3 states "1 11p TP 17AY 721 72 191 1M1 AnR and. This indicates that immediately after they made
their respective pledges, the w17°p took place.

¥ See footnote # 1.
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As we find in SR»w ns3 P99 nas noon where the X172 teaches, ‘a minor

girl who was not J8»%» and arose ’° and married, etc’. There the word 77y
there does not mean as a result of any previous action.

mooin offers an alternate difference between our X0 and the X213 in M2ND:
— NPYT ©2IWUNS 1PNV NN O2P) TINRT RNT U9 0N 12N

And the 0" explained; that which is said that the pledges are effectively

acquired through speech alone, it is specifically by the first marriage -
— NN YENR DI NYT 2P 1Y UM 1IN NX NOYN ANNY

Where the father is marrying off his daughter for the first time and the

father has a strong affection towards his son-in-law, therefore his oral

commitment is sufficient to create a 1°3p -
— DY 9N NN YaN

However there in M21n> we are discussing a second marriage, and therefore
a verbal commitment does not create a 1°3p.

In a similar vein:
N9 nnN) AN YAN D019 ANAW RIN N9IN 19373 PR O 13529 DIN 190 19

And similarly, the n'9 used to say that these commitments are {°1p2
77°»82 only when the father of the 19> pledged; however not what the
brothers or mother of the 795 pledge. Their verbal commitment is not binding.

SUMMARY

The 0"2w" maintains that the pledges are 77 X2 11p1 if the W17°P took place
immediately afterwards. The n"9 maintains that they are 77782 1321 only by
the first marriage (and only the father’s pledge; not the brothers’ or
mother’s).

THINKING IT OVER
1. mvoIn offers three explanations why in N2> the 110 can extend the
1017°X indefinitely. What are the relative advantages of each explanation?

2. According to the n"9, must it be a first marriage for all parties, or just for
one of the parties?

? A mwp who has no father may be married 132775 by her brothers or mother. She retains the right to annul
this marriage until she becomes a 77173 (this is called 1%°»). If she left this husband and married someone
else her marriage is considered her 11%n. The term 771y there is not associated with any previous act.

' This is referring to a case where the ;723 is an orphan and her brothers or mother are marrying her off.
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